SEE

SDJIAYU .COM.CN
;
01515( 3V .

b

KO0 ke o H {E‘J

|
]

L E230 (2020) % C200251-001 5

W H &R —2] RAHROH

ZTAREAL: LR A 25 B 4 PR 21 7]

RS ZFEAal

WEHE: 20204E 04 A 10 H

LRI A

EMREON 4
{5 "d



=
&‘533’6

W EP (2020) % C200251-001

g RUURAN

| &5 R

s

1))

0 -l$

SDJY=ZL27-02

x>
o
—_
=i

£ 15 T

LZAREAL: ILRFTHEHI LB PR A A
2BEES): BHSHER AR Tolkb) S ERIR
3T R . TBLLLHEE: RBE, R A R SR TR R B, SR AL

T VRS, SRR A TSR IS MR DR, SRR AR,
4 REEEH: 2020 48 03 A 23 H-20204£ 03 H 25 H
53U H: 2020 4F 03 A 23 H-2020 4203 A 27 H

6 AP B 45 2R -
6.1. TR R HE TS TR B 5 2R
6.1.1. LA S HEBURII K R
75 SH Ao 0 o v R & RS B AR Hi PR
: CH | HI584-2010 FREER KRN | e e G0 L5mpi?
2 S| SR SR | 0.0015mg/m’
3 EAE S UGS 0.0015mg/m?
HJ 533-2009 R SHAES &
4 f= AR AR 1 i 3
2 T GGG 722 098 0.01mg/m
. [HU/T 27-1999 [l 5 YA P TR L3S
5 A 0.05mg/m?
AN E RERR G ETE 148
HJ 584-2010 FMEZS BRYI | o o e
6 wE | s | o SCPMCL g gotsmgme
A AR
BRI ER (2003 F) BBl oo
7 PR (IARSAMED TARBE AT “Zﬁcjf‘;;’g CEE ) 0 tmgie
ik SAEEERE
EZ AR (2003 ) 8
APASS 1
s | mm D B o B omeme
ik WHEESCEE (B)
‘ GBI/T 14675-1993 =5 R & TR
9 =
R | s = s A
10 g HJ 584-2010 SMREES KAVIN | L e 0.0015mg/m?
— Bk S B | o GC-2014C
11 H M 5 e 033-3 0.0015mg/m?
HJ 6042017 FRASR SR BhY o e
| mpee | aEEmaenE s o SO o o
A AR EIE
(RS R ERURLA I .
13 Wik |[EEVE) (GB/T 15432-1995) K& LIE 2; 5B3SA124S 0.001mg/m?
B )
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6.1.2. TGH L HEBARI 25 R
Rl 4
KA RAL PRE N % —H% NSRS =
(mg/m?) (mg/m?) (mg/m’) (mg/m®)
08:00 ND ND ND 0.04
A 03 A25H | 10:00 ND ND ND 0.05
14:00 ND ND ND 0.05
08:00 ND ND ND 0.08
FRFE— | 03 H25H | 10:00 ND ND ND 0.08
14:00 ND ND ND 0.07
08:00 ND ND ND 0.09
TRIE= | 03 H25H | 10:00 ND ND ND 0.11
14:00 ND ND ND 0.11
08:00 ND ND ND 0.10
TRA= | 03 H25H | 10:00 ND ND ND 0.09
14:00 ND ND ND 0.10
6.1.3. AR H BRI R
Rl
A R RFFISTA FE | EE R | BfE | RARE
(mg/m®) | (mgm®) | (mgm®) | (mgm’) | (BEHN)
08:00 ND ND ND 0.002 14
LR | 03 H25H | 10:00 ND ND ND 0.001 15
14:00 ND ND ND 0.004 14
08:00 0.05 0.0125 ND 0.005 17
TRE— | 03 H25H | 10:00 0.06 0.0415 ND 0.006 16
14:00 0.06 0.0120 ND 0.006 16
08:00 0.08 0.0146 ND 0.007 18
TRE= | 03 H25H | 10:00 0.06 0.0142 ND 0.007 15
14:00 0.08 0.0123 ND 0.007 17
08:00 0.07 0.0135 ND 0.006 16
TRIE= | 03 H25H | 10:00 0.05 ND ND 0.006 15
14:00 0.07 ND ND 0.005 16
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6.1.4.TCH HESATI 45 5
Sl S5

TRAF R SR I [A] S KM | AR R4
(mg/m?) (mg/m?) (mg/m?) (mg/m?)
08:00 ND ND 0.86 0.300
XA 03 A 25H | 10:00 ND ND 0.88 0.318
14:00 ND ND 0.93 0.301
08:00 0.0104 ND 1.41 0.334
TRE|E— | 03 H25H | 10:00 ND ND 1.37 0.316
14:00 ND ND 1.42 0.367
08:00 0.0186 ND 1.39 0.401
TRM—= | 03H25H | 10:00 ND ND 1.41 0.418
14:00 ND ND 1.49 0.367
08:00 0.0116 ND 1.54 0.350
TRE= | 03 H25H | 10:00 ND ND 1.48 0.384
14:00 ND ND 1.52 0.334

H: “ND”FRaREH, i >75%
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6.2.75 I HETBUR W 4k 48 B 45 5%
6.2.1.75 tH S HEBUS U AR 4
F5 25 R M B v a5 FH 4% S G 5 e EAS R
1 V%3 0.0015mg/m?
2 TR 0.0015mg/m?
. HJ 584-2010 55255 R R0
3 TR ALY Agilent | 0.0015mg/m?
e ey e ot :
4 SiEN iy 0.0015mg/m
5 x*® 0.0015mg/m?
6 K 0.0015mg/m?
DB37/T 2705-2015 [E 215 45 KA,
7 —E AR . . 5. 3023 B 129-3 2 3
i i e | DR 0B R g/
HJ 533-2009 S ESSFES AL
8 & . " X SN EE 722098 0.25 3
Wi mEdAseEs | 2 o me/m
* DB37/T 2704-2015 [ 515 4R ES,
9 REAY) Jay - \ UBF N 3023 4 129-3 2 3
T L N mg/m
. HI/T 27-1999 [ 5215 JeiEHES P& | 7T 4606 L3S
10 WA g e g sTa o g 0.9mg/m?
LERME MEERK D ICETE 148
E R E Y 2/ (2003 ) (BN
X , | BTG E T L3S
11 LA R AMNIRD 2 SRR S WS 44 T Tkﬂﬁﬂ}% i 0.01mg/m?
% WHEESCOLEE (B)
B/T -1993 FEFE HRM
- Py — G ‘14675~993 Iwbﬁ% K| £
NE = AR
HJ 38-2017 [E @5 R IRESR . Y
13| FEEgaR | REAEERRARIIE SHE R 0.07mg/m?
. GC-2014C 033-2
lEl/jE_
i HJ 836-2017 BYRES RIK | BB E RS
0 B % l%‘m*ﬁ%‘m Rk | IEIEESIRERSR 1 omg/m®
FEBRI I E EEE BTPM-AWS1 158
6.2.2.75 LR HEBURI I 45 5
KA AL 102 ZE]A]- 2 EE 2 IR KBS DAOLT HER
F T H KL (8] 03 A 24 H
KARESIR IR 1 AR 2 AR 3
‘ 33 mg/m? 20.8 19.5 21.9
KRR =
HesE 2 kg/h 4.40E-2 3.96E-2 4.36E-2
- WHE mg/m? 1.8 1.5 1.4
LA —
HEo# 2 kg/h 3.80E-3 3.04E-3 2.79E-3
HS &= Nd m¥h 2113 2029 1991
b/ TRL m/s 52 5.0 4.9
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6.2.2. 8 HLHBUR IS R (858
KFE L 102 ZE[A)-EL b Z IR SUE DAOTT HFRH
for il i H KA IS [ 03 H24 H
PRI BHIR 1 AR 2 BRI 3
JH IR C 19.3 19.8 20.0
S e FE SR W ELAR (m) 25/0.4 25/0.4 25/0.4
Uik >75% >75% >75%
6.2.3. 78 LAVHERBUR I 45 5
RFE AL 103 ZE[A]- i i 15 BB S B i5 7 DA 044 HETS
T 5 SRAE I (] 03 H24H
SRFESIK MR 1 AR 2 BIR 3
W mg/m? 2.2 2.7 2.0
FURL)
HEH 2 kg/h 1.42E-2 1.61E-2 1.26E-2
WEE mg/m? 37.7 35.9 36.5
[P oISy
Hr o 2 kg/h 0.244 0.214 0.230
A& Nd m¥%h 6470 5963 6304
By m/s 4.1 3.8 4.0
I T 29.5 30.2 30.1
HES 1A =1 SR A W T B4 (m) 32/0.8 32/0.8 32/0.8
ik >75% >75% >75%
6.2.4F HYHBAII G R
P 103 ZE 8] - 50 PP e £ 4E IR 103 2 ) - 45 T 2 SR £ 4E IR
M5t DA002 HES H FH &t DA001 HEAK D
H I H SRAERT [H] 03 H24H 03 24 H
REESIR R | SR 2 | A3 | ATIR 1| AR 2 | BRIK 3
W mg/m? 24.6 25.4 25.5 28.9 28.8 27.8
| THSY <
Hegos 2 kg/h 4.43E-2 | 3.96E-2 | 4.91E-2 | 2.50E-2 | 2.72E-2 | 2.05E-2
=& Nd m*h 1800 | 1560 | 1924 864 944 737
T m/s 4.5 3.9 4.8 2.1 2.3 1.8
HH C 23.5 23.8 23.7 19.3 19.5 19.8
HES 4 = SR AE W T ELAR (m) 30/0.4 | 30/0.4 | 30/0.4 | 28/0.4 | 28/0.4 | 28/0.4
Uik >75% | >T75% | >75% | >75% | >75% | >75%
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6.2.5.78 LI HEBURRI 45 51
TR L 103 ZE[A)-4N 2R B O RS R AR|103 ZEJ6)-45 4 XA i 25K,
S KR B DA032 HEA I | KBEHSE B DA042 HES
S I o N
Sl H SEREI ) 03 A 24 H 03 A 24 H
SKRESIIR SRR | Bk 2 | IR 3 | Ak L | AR 2 | AR 3
rF R mg/m? 227 | 228 | 235 | 386 | 403 | 394
e B R —=
HEBCE % kg/h 0.184 | 0.229 | 0.190 | 0.241 | 0.206 | 0.233
HS& Nd m*¥h 8085 | 10029 | 8093 6244 5118 5922
ViiRL m/s 2.1 2.6 2.1 4.0 3.3 3.8
TR C 20.3 20.4 20.8 17.5 17.8 17.2
HES 1 B SRAE O W TH B4R (m) 25/1.2%1.0 25/0.8*0.6
Uik >75% >75%
6.2.6.75 4 HHESURII 45 51
T 103 ZE[) -4 32 X I PRI 42K (103 28 a4 S e Ak )2 < /K vt
KR E DA0O3 HEFS O | k3R E DA04S HE D
4 ] I -
FrH KA T[] 03 A 24 H 03 A 24 H
KAEAIR PR | Bk 2 | BRIR 3 | Bkl | Bk 2 | SR 3
o o W mg/m? ND 0.9 L1 3.4 2.6 3.0
AN e
HEBGE % kg/h / 1.68E-3 | 1.88E-3 | 6.09E-4 | 5.43E-4 | 5.94E-4
HAE Nd m3h 1708 1871 1709 179 209 198
T m/s 4.1 4.2 4.1 1.8 2.1 2.0
H IR T 12.5 12.8 12.1 26.2 26.1 26.1
HES R 5 B SRR T T B4R (m) 28/0.4 | 28/0.4 | 28/0.4 | 28/0.2 | 28/0.2 | 28/0.2
ki >T75% | >T75% | >75% | >75% | >75% | >75%

TE: “NDVZFRIRARAIH, /R RAG HIEF i EHRROE

6.2.7.78 LRSS 45 R
SR 103 22 i) -4 SR B RS /K 8E103 ZE 1] -4 & HES K e ibhss
WEEE DA030 Hi H DA043 Hej
& I G g
fr il H KRR ] 03 524 H 03 A 24 H
KARESIR SR | SR 2 | Bk 3 | k1 | Bk 2 | SR 3
‘ WRE mg/m’ 240 | 226 | 205 | 248 | 226 | 249
|y sy —
HEROHE R keg/h 3.55E-3 | 4.00E-3 | 3.42E-3 | 2.31E-3 | 2.53E-3 | 2.09E-3
HSE Nd m¥%h 148 77 167 93 112 84
/iy m/s 1.5 1.8 1.7 1.0 1.2 0.9
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6.2 7 FHLHTAAME R (5

TR 103 ZE )-SR VR B R Ak 88| 103 22 [A]-4 & HE K BTk
W B DA030 Hejik & DA043 O
s H SKAERRE i 03 A 24 [ 03 A 24
KBS R | vk 2 | Sk 3 | Sk 1| Sk 2 | AR 3
SO I C 25.7 26.0 26.0 15.2 15.3 14.8
HES 15 1 AR D T B4R (m) 28/0.2 | 28/0.2 | 28/0.2 | 25/0.2 | 25/0.2 | 25/0.2
Uik >75% | >75% | >75% | >T75% | >75% | >75%
6.2.8.F HYHFBAR NS R
R AL 104 ZE[A]-L-350 VR4 Y B DA00S HEA M
Fer P H A ] 03 A 24 H
SRS BIR 1 AR 2 BRI 3
W mg/m? 25.2 26.7 24.1
JEH TR R
Heod % kg/h 1.62E-2 1.77E-2 1.65E-2
A= Nd m¥h 644 664 683
T m/s 6.3 6.5 6.7
HH 3, o 20.1 20.2 20.2
HEA 1A 1 SR T T B4 (m) 38/0.2 38/0.2 38/0.2
Uik >75% >75% >75%
6.2.9.F5 HSHEBAR IS R
R RAL 104 ZE[8]-L-360 K RLFER I DA009 HE I
R H SRAERT[A] 03 A 23 H
PREZI/ AR 1 ARIR 2 AR 3
WRE mg/m? 7.25 7.67 7.14
JEF TR R
Heod 2 kg/h 2.46E-3 3.11E-3 2.75E-3
HSE Nd m*h 339 406 385
Yihy m/s 1.5 1.8 1.7
y ikt C 23.0 23.1 23.0
HES 18 i FESRAE I W T ELAZ (m) 8/0.3 8/0.3 8/0.3
yike) >75% >75% >75%
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6.2.10.7 LA HEBUR U 45 1
RFE AL 104 ZE18)-L-370 S HES IR E DAOL0 HS H
Far 15 H SRFFI[A] 03 A 24 H
PREZIN IR AR 2 AR 3
il W E mg/m? 2.7 1.9 2.3
AUE
Heodk 2 kg/h 1.92E-3 1.31E-3 1.75E-3
HSE Nd m¥h 712 689 759
/by m/s 3.1 3.0 3.3
b= 4 20.1 19.9 19.7
HES 15 1R SRR O T T LA (m) 15/0.3 15/0.3 15/0.3
BT >75% >75% >75%
6.2.11 FHSHEBAR NS R
P I=X A 104 ZE i) B ILAR4S 22 DAO13 HES O
Far iz B KA ] 03 H23 H
KFEBIR WK1 IR 2 AR 3
W mg/m? 2.1 1.9 2.4
ki
HETBOE R kg/h 1.89E-3 1.80E-3 2.22E-3
HS& Nd m*h 902 950 925
T m/s 4.0 4.2 4.1
iR o 24.0 24.2 24.2
HES 1 = SR AE 1 W T B2 (m) 18/0.3 18/0.3 18/0.3
ik >75% >75% >75%
6.2.12 HHLRHHAR RS R
KRE AL 104 ZE[6]-AEA | W3 E DAO16 FEH
For iz SR A 03 H23H
KRS MR 1 BRIR 2 AR 3
- {&ff{ mg/m? 20.0 22.2 19.5
Hepug % kg/h 2.31E-2 2.66E-2 2.29E-2
HRE Nd m¥%h 1154 1196 1172
iR m/s 11.6 12.1 11.8
JH IR i 23.2 23.5 23.4
HeAS 18 R T B4 (m) 28/0.2 28/0.2 28/0.2
i) >75% >75% >75%
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6.2.13 A H LS HEBUE M 4 R
TR 104 ZE[A)-L-350 454 "R ek | 104 ZE1A)-L-350 AL miicde
S = DA025 HER O = DA038 HEK I
A5 I B
FRsH SR ] 03 H 24 H 03 A 24 H
KFEATIR Sk 1| k2 | SR 3 | kL | BRIk 2 | AR 3
‘ W mg/m? 23.1 23.4 23.5 24.0 23.0 22.4
e S E —
HEGE R kg/h 2.36E-3 | 2.15E-3 | 3.36E-3 | 3.94E-3 | 3.54E-3 | 3.20E-3
HA= Nd m*h 102 92 143 164 154 143
TR m/s 1.0 0.9 1.4 1.6 1.5 1.4
JH R C 18.4 18.6 18.8 18.3 18.7 19.0
HES 13 5 /R D W TH] B4R (m) 38/0.2 | 38/0.2 | 38/0.2 | 38/0.2 | 38/0.2 | 38/0.2
1 far >75% | >75% | >75% | >75% | >75% | >75%
6.2.14 B H S HEAR P L R
KA AL 105 ZE[)-mn kR AL IR BB SR s DA014 HF S H
K630 151 H SRAET (8] 03 H 25 H
RFEEATIR A1 AR 2 AR 3
‘ W mg/m? 2.3 1.5 1.7
RURLY) —
HEROE R keg/h 2.20E-2 1.56E-2 1.84E-2
‘ WK mg/m? 14.0 11.1 12.4
JEHFfER —
HEOE R kg/h 0.134 0.115 0.134
HAE Nd m*h 9571 10378 10804
LR m/s 15.9 16.6 16.1
JHIEL T 47 48 48
HEAS 18 0 R4 O W TH B4R (m) 32/0.6 32/0.6 32/0.6
gk >75% >75% >75%
6.2.15 FHALHBAI LR
KRR AL 105 ZE[al-& /) FB44A DA01S HR O
Fe I E SKALRT[A] 03 H25H
SKRESIR S 1 AR 2 SR 3
‘ i3 mg/m? 18.3 18.6 18.4
[Py =
HEROE R kg/h 0.261 0.261 0.246
HSZ2 Nd m*h 14284 14037 13367
TIE ' m/s 11.5 11.4 10.8
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6.2.15 A HLHBARMLE R (88D

RAE AL 105 ZE[a]-& /) BsiA DAOLS HES.H
R RIRE| KA (] 03 H25H
KAEAIR AR 1 AR 2 AR 3
I C 17 18 17
HES 18 = SR W T ELAR(m) 30/0.7 30/0.7 30/0.7
1 1 >75% >75% >75%
6.2.16 F HLEHERBUE I 45 1
TR 105 ZE []-BR A4 M 45 25] 105 ZE/E-MVR | oGS
B DA019 HEK M Ak %7t DA046 HERL I
S 3 - N
R STAE ] 03 A 25 H 03 A 25 H
SRFESIIR Bk 1| Bk 2 | Bk 3 | AR | AR 2 | SR 3
M R mg/m? 199 | 188 | 205 | 142 | 135 | 151
LR =
HEmsoE 2 kg/h 4.16E-3 | 4.81E-3 | 3.96E-3 | 0.139 | 0.139 | 0.157
HES & Nd m3/h 209 256 193 9789 | 10306 | 10385
T m/s 0.9 1.1 0.9 11.1 11.8 11.9
HR (3] 22 23 92 24 35 25
HES 8 5 R T TH] L A2 (m) 36/0.3 | 36/0.3 | 36/0.3 | 30/0.6 | 30/0.6 | 30/0.6
i >T5% | >T75% | >75% | >75% | >75% | >75%
6.2.17 HHELHBR ML R
KRE AL V57K -B [X RTO 1§41k &t DA031 HE
a0 11 H SRAE I 8] 03 H23H
RAEAIR AR 1 AR 2 AR 3
P WE mg/m? ND ND ND
AN —
HEOE R keg/h / / /
WEE mg/m? 5 12 8
AR —
HERCHE % kg/h 0.195 0.457 0.309
. W mg/m? 8.05 8.13 7.73
RS E =
HEOE R kg/h 0.313 0.309 0.298
WRE mg/m? 1.83 211 231
.
HEUE R kg/h 7.12E-2 8.03E-2 8.91E-2
N R mg/m? ND ND ND
a3 -
HEBGE 2 kg/h / / /
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6.2.17 FHLHBUS IR (8238)
PR F= A FY5 /K -B [X RTO #+bijit DA031 HE M
oz i 17 H SRAF I ) 03 H23 H
KAEIRIR AR 1 WK 2 B 3
e =) WL mg/m? ND ND ND
= e kgh / / ;
o ﬁéz}f{ mg/m? ND ND ND
Heos 2 kg/h / / /
- W mg/m? 0.0273 0.0575 ND
Hemsog % kg/h 1.06E-3 2.19E-3 /
= W mg/m? 0.0060 0.0131 ND
= HEROHE % kg/h 2.34E-4 4.99E-4 /
S 207 W mg/m? ND ND ND
Hec# % kg/h / / /
—— {ME mg/m? 0.19 0.15 0.17
HeoE 2 kg/h 7.40E-3 5.71E-3 6.56E-3
RAKE TN 733 733 733
& Nd m¥h 38928 38061 38585
bihy m/s 12.8 12.6 12.8
JH IR ¢ 70.6 71.2 71.5
S5 v BE AR T W T ELA2 (m) 15/1.2 15/1.2 15/1.2
ity >75% >75% >75%
. NDERRRKH, <rRaR R AR R
6.2.18 F L ZUHEBAS T 45 2R
STRE RSk -C Kbt | TSk -D XL B
DA029 HE D DA033 HEji 1
S H STRERT ] 03 A 23 H 03 H 23 H
KRR R | k2 | BIR3 | Bk | Bk 2 | SR 3
WE mg/m? 23.8 21.1 22.4 11.5 9.12 9.20
EFLERE
Heos 2 kg/h 0.132 | 0.127 | 0.129 |3.20E-2|2.36E-2 | 2.51E-2
- W mg/m’ 165 | 141 | 146 | 276 | 3.05 | 281
= oo 2 kg/h 9.12E-2 | 8.51E-2 | 8.44E-2 | 7.68E-3 | 7.88E-3 | 7.66E-3
» W mg/m? ND | ND | ND | ND | ND | ND
“x Heo# 2 kg/h / / / / / /
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6.2.18 HHLHBR P LR (8:3R)

TRE BTGk -C Kbkt | FEYS/K)-D Xk s
S DA029 HEji I DA033 HEjik [
& 751 BT
Fr s H SRAE ] 03 23 H 03 H 23 H
SKAEAIR SRR L | k2 | Bk 3 | Bk 1 | Bk 2 | BRIk 3
o R mg/m? ND | 0.0372 | ND ND ND ND
THZR
HEGE R kg/h / 2.25E-4 / / / /
3 W mg/m’ ND ND ND ND ND ND
TR —
HECE & kg/h / / / / / /
- W mg/m?® 0.0054 | 0.0843 | 0.0388 | 0.0396 | 0.0532 | ND
7
HEE 2= kg/h 2.98E-5 | 5.09E-4 | 2.24E-4 | 1.10E-4 | 1.37E-4 /
B R mg/m? ND ND ND ND | 0.0112 | ND
i
HEOE R kg/h / / / / 2.89E-5 /
" W mg/m? ND ND ND ND ND ND
KN —
HECE kg/h / / / / / /
» WRIE mg/m? 0.12 0.10 0.11 0.07 0.08 0.06
L& —
HEROE % kg/h 6.63E-4 | 6.04E-4 | 6.36E-4 | 1.95E-4 | 2.07E-4 | 1.64E-4
RRIKE TEHN 733 733 550 733 733 733
HRE Nd m*h 5526 6037 5779 2782 2584 2727
TR m/s 6.3 6.9 6.6 4.5 42 4.4
JHIR T 30.2 30.5 30.3 24.0 23.9 24.1

A v SR 1 T LA (m)

15/0.6 | 15/0.6 | 15/0.6

15/0.5 | 15/0.5 | 15/0.5

A

>T75% | >T75% | >75%

>75% | >75% | >75%

TE: “ND”ZRANAAMIH, 3R ARA T /I FATH R HEBCE

6.2.19 75 H L HEBUG I 45 51
R JbisAk) -A XKig4bwt | dbis/k)-B XKigfLHES %
DAO036 HEY T DA035 HE
& I 0 N
HrmH SRAER A 03H 23 H 03 4 23 H
KAESIR SRR 1| Bk 2 | SRR 3 | AR 1| Sk 2 | BIR 3
\ KR mg/m? 21.8 182 | 203 20.4 17.5 13.7
JER R =
HEOE R kg/h 0.225 | 0.172 | 0.196 |4.63E-2 | 4.41E-2 | 2.94E-2
. W mg/m? 2.79 3.15 2.60 4.56 4.83 3.95
2
HESUE R kg/h 2.88E-2 | 2.98E-2 | 2.51E-2 | 1.04E-2 | 1.22E-2 | 8.47E-3
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6.2.19 HAHLRHBR ISR (8238)

A JeyEK A lX{%ﬁc&ﬁ@ Jb¥5K)-B Kb
o — DA036 HE M DA035 HE 1
KA I ] 03 A 23 H 03 H23 H
SRAFIIX PR 1| Mk 2 | R3Sk 1| SR 2 | IR 3
2 W mg/m? ND ND ND ND ND ND
HEoE 2 kg/h / / / / / /
el K mg/m?® ND | 0.0624 | ND ND ND ND
Sis Heod % ke/h /| 590E4| 1/ / / /
W mg/m? ND 0.154 | ND ND ND ND
TS =
HEBOH R kg/h / 1.46E-3 / / / /
e W mg/m? ND | 0.178 | 0.0120 | 0.0532 | ND ND
i HEBOHE # kg/h / 1.68E-3 | 1.16E-4 | 1.21E-4 / /
B W mg/m? ND ND ND ND ND ND
K HEBOHE 2 kg/h / / / / / /
— z&fﬁ mg/m? ND ND ND ND ND ND
e kg/h / / / / / /
—— W mg/m? 2.85 2.61 2.42 0.02 0.03 0.01
Hesod 2 kg/h 2.94E-2 | 2.47E-2 | 2.34E-2 | 4.54E-5 | 7.56E-5 | 2.14E-5
RAWKE TEHN 550 412 550 733 550 550
=& Nd m*h 10323 | 9450 | 9665 | 2270 | 2520 | 2145
g m/s 5.9 5.4 5.5 3.7 4.1 3.5
JH I C 33.2 33.5 32.8 30.8 31.2 31.5
S e AR A W T B4R (m) 15/0.85 | 15/0.85 | 15/0.85 | 15/0.5 | 15/0.5 | 15/0.5
Uikl >T75% | >75% | >75% | >75% | >75% | >75%

TE: “NDFRaARMH, R ARAE BT H v HHCE R

6.2.20 HHLHBUR ISR
D 3=t — 4] B R B 7 GIE DA028 HER T
I 5 KA ] 03 A 24 H

FFESRIR AR 1 BRIR 2 BK 3

— JME{ mg/m? 19.8 20.6 21.3

HEBoE % kg/h 0.165 0.173 0.177

- W mg/m? 11.2 10.2 10.4
HeRoH 2 kg/h 9.35E-2 8.57E-2 8.64E-2
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6.2.20 HHLSHBRMLE R (8ER)

P I=XIA — [ R A s DA028 HES
R UBE| AL ] 03 H 24 H
KAESIR IR 1 AR 2 AR 3
e R mg/m? ND ND ND
ZHF —
HEGE R kg/h / / /
e W mg/m? ND ND ND
THI% —
HEE R kg/h / / §
W mg/m? ND ND ND
SR —
HEE R kg/h / / /
o W mg/m? 0.0085 ND ND
N
HERE R keg/h 7.10E-5 / /
i W mg/m? ND ND ND
ES -
HEE R kg/h / / /
WEE mg/m? ND ND ND
K o
HeoHE % kg/h / / /
wRE mg/m? 0.53 0.50 0.46
BALE -
HERGE R kg/h 4.42E-3 4.20E-3 3.82E-3
RAIRE TEHN 1738 1303 1738
HS & Nd m3h 8348 8403 8303
V/THLd m/s 12.8 12.9 12.7
IR C 14 15 14
HES 18 v B SRAE T T EL42(m) 7/0.5 7/0.5 7/0.5
1 1t >75% >75% >75%

Vi NDYRRARM, R TS R

6.3. T AR b T~ SRR A P 448 e 4 R

6.3.1.BE R ik 48
Fe S I b v 1% & NEr R
a - GB 12348-2008 T4k #
1 B[] N 7= P AWAS5688 % 121-14
R Ty e—. L
X GB 12348-2008 T4k 5
2 lgh 75 i AWA5688 Y 121-14
s T m—— =
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6.3.2. B R 45 5%
03 H25H

PR =Y A E[AEEF (dB(A)) WIAEEFS (AB(A))

I [ Leq Fif ] Leq

HIUH R 50 Im 11:01 56.1 22:01 49.1

2HH ] A4 Im 11:15 55.4 22:17 48.6

#H ) 40 1m 11:29 53.3 22:32 46.8

M EALT A4 1m 11:44 525 22:46 46.7

AR >T75%

6.3.3. = A0 = A

7 R SRR

I [ AR CC) |RE (hpa) [BE (%) Ra (R (m/s) [m& (B
08:00 12.6 1010 47 S 0.9 3/1
10:00 18.2 1009 30 S 1.8 2/0
03-25 11:00 20.1 1008 22 S L7 3/1
14:00 24.1 1007 18 S 1.5 372
22:00 8.4 1007 44 SW 1.0 32

% % *?&%%K* % ok

%%HA:% 7 WA 3] 7%@/\ % ERAM: 990,00 (0




